Math-4329

Thursday, January 30, 2020 4:33 PM

12— = %032,8,C5. bbby .- -

G 2%+ 2 +---
1‘ L4 (@
A1

A -z .
b2+ b, 2 +:-

b.kQ are O or 4
2 Zz_ @ —
gecovel
,_J 77X43 %(H‘.

.‘-

2
o —s 5™Mlaskcoetf

2 1\ \O

0
— > ™ laseextf

\ ov \ O |\
i € Q4 2> ax X 27
and 3vd L\““ CYN \ask 6*™las

‘me Binawy fom»o-l’
D-\2 —) B“Mw:l fowm.k/\

owzx2 = 9'%4 > by
O -2u¥% 2 = 2_'“6 bL
~ wla« 9 -’ O‘qé -




O2u¥2 > 270 by
OudE = = 026

‘-'\_/5.3
Dach 2 = .92

When we Wy \°v\.\»e%ear ?aw\' we Subrmaet 4,

Ooar% L = |-94 b
0-BHX 2 - ‘61/
@eT__> b

0-6¥% L = @.36
d
REVISTT TRIS SE\ORTV\_(S"':\O%’“‘:") bbb
. R

O'\Z'-D il Banav\jfowvabx‘}: ys = 0-12¢

0125 = Yg= ¥° = '3% ;3)
2~

OVves % 2= = J-25 b, coefficient Of 2
0257  =R5 _2b, n  of 277

O-%% 2 JQOO/ ba =4 coelf @@2’3

o.co% 2. <O by
o-cO% = =O } by

0125 — (o000t )
y .

e,xaw{ég: O\ — &’v\aﬂ formar ?

0.1X2%0.2= by=0

(0.2%2‘50-'4 be=0
- A e Q }93-::0



02xilco.yYy bi=9
0.yx2<06.3 gy
0.4 x2Z b PIZi{TL,
D.(ﬂng lz’ =0 ;Ma
& 04 pqz0/=bn
o\ — (0 ool ool Oott--_ )
| 2-
V%etsmpeakd
b Bunavy b b b bs
O\ — O 2™' + Ot* =% & O;;t 23 + |“=|= 27\ B 2."{
by porue + On2? & w2 B 2
P B

Rase - Z cCoefficients aw ‘ml-e‘%w qreates N
equal o 2. buk  graller tan Z.

10,173
Bace =10 ——> co2fficlamit ove 15613
Qs = A0 x5
g @K 6' *@* \0?
a, Ao

Base \6 — coeffrcrenss e in io,\,-_- \5’3

o lo—> &
, W—> 3
- ‘2459 ¢
' \3-D
g \W—>E

\6— F

Represevakion of o aumber in hexa (s

TCEL



Wscax(m of o wumber in hexa s
IECE . .
velared to WS double, precision Heprsemtobion

kiom .

Re.Prcsex\\— \.5";4\ e ‘%‘va\ \e c.c'S\bv\ W:\i’nﬁssm
| 1 | Tole— 1°|

o5, ©a \93- b, b¢ b, by bg bqb, . - -- b
Cq- | Y

(—-\)o m X m \o'uwvi

i 2_@ ~126 S < \13

—— X = gT- X
0'5) — Covwe,r{' N \oinowsj {oka‘
L > (ecot100) 51

Ly Donot Stove 4
1.5 — 3° + a”

SXK < A+ \n XxQ° e=o0
m\_\j O-{— CKZ\’S Skoved

e-0 — |ex2A

—

ckove
\ 23 —> B&\cwj formak 2

% \
5o & e AR A —3]&’
“ O 1 1 1 (v\] LA
| W\ T

O T T \ T{O



r2 <

oll ) 1))
Tk 262 2 1% ot ' 20
— WeXeZeYe IR
= e+l24 ;V\f-“}vﬁzo
\ @0 1 l\l l\\\\ \\olosl—- J
22 6 S -~ —
cage” VU )y
- 1261 64[ 216 (5[l 3( P
. ol 123 | —
ke S A \
2] 3]
2] 1|
i
2

> Doude Preusion



63
.S
.
Double Pret
SN

Q-
\
oitrs
for e+t
02
3

63
B =
= 6%+
o

l v
0 \ l \\\
‘

-25
24
22
20
Q—\

26—\
:2,0.\.‘
__ ¥
|\ —
\\X&X\_ \
__\\\\ :
;ﬂ e+ e G\; Ze
\* 023> =
Q@ _;\07.8
\ ) -
2.5 2}

v 3
X 2%

ok
JARARNTE ‘
o || \—)\(‘
| \ t\ojb

-,\D
a_‘\
: 4
2F 22t P
A Xy K
2
2 2

(o]




\U \ A ~ Y\ ) 1 2 M .
L,‘ \ ‘\'Y \6\ S\H\L’; 2.7_'?'\ 20 ) —_ 1

‘Z.\Dg_’\ ) 222022
N—" __
exloey
ExRA 7%&«0&\ onswet ,
Q_i_”&‘l(\— . fnd L numnby’ in el Wlmch has B

{-‘o\\mir\aX bdwwj ﬂ&‘«mwtmklcfm
(\H 000 000 'H')
2

(1 \ 090 000 - LL.)
1% 2* 28 L 2°2% 1o
Answer 28+ 2% 4 204 27+ 2%

L\L\8‘4§ 15 e Nuumber \r\awmﬂ
e Binowy Represemrorion (111 000 600: L),

Tind  twe.  \hexa de ol \«e.pvwW\'ak\’m ot F30

2~
v o\ 22— 1
208 \O e = \1»

D_”“S

- 9k \o & @HC A— 6’
> A

Answer - (':}30) _ (ZP k?
\o \&



pPwswere -

(320), = (=¥ "1

Back ‘o W 'D\Mvhj {—ovma\- 0'(— O-\.

O\ % 2 = 024 bisO
oMK 2 = O4®  v,=30
O 4B x 2 :0~’(: by =©
0-qA6% 2 =\ by = |
0. Ar% 2 = -394 be =\
O-84% X = 6% bsa‘
0-68% 2 = \:3Z2 bq_=|
= 0°6\ Le =
032-% %+ - ) 3-‘
O-64% R = \7-7 q =
O'2L8¥% 2 = O-sb bo=0
O-So* 2 = \'\% bu =
= 0-2M £.=0
O-\% % S
O
\
\
\
|
(o)
\
o
|
(o)
Answesd



